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31 32° +3y%y = 6y+6zy ANA ¢y = 25/ ; oA A (3,3)0A y' =—10|B2 P WAL 2 +y=6
Yy —2x

32. fl(z)=3z+62=3z(x+2)0)22 JAFNA ro| Fe r(0)=—14, f(—=2)=0. 7 & BEHA
F(=3)=—4, f(2)=16°12%, (FR+HEH=a+b=12.
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f'(x)cosxzdr = / SN coszdr=e— 1.
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34, o7 A9 Hyj= ST fol[(a—ﬁ)?—(a—x)?]dx:w(5“1;2)% az2.

35. O % { n }—3 Basdoln RGP 0ol molITAMe] ofshe] (2u).

n?+1
o 1 B _ o — o 1
© ), 7 ol FHp-—FFRg)skaL, D X" <Y 3z O 2= (F3).
n=1MN n=1MN +1 n=1MN
@ 1 . ¢ - }
© dr = lim|Inlinal | =coolm2 Heaguel ols) (2
o xlnz t>oo 2
. 271 0 27L
@ lim—5— =002 5 ) ——2 (24h
neo 4nd 4+ 1 han®+1
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36. (F419] Aol =f \/r2+(dr) d0=/ 0707 +4 d9=13—9.
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37. Al e Aves BH B HEE (1, —2,10x<2, —1,3)=<{—-5,—1,3)°| 22 FH YA

Sr+y—3z=9°]a ZAde WAHAL z=—5t—2, y=—t+1, 2=3t (t= 2. t————5 1| iR R=R=4
20 53 54 19
Ao (22 22 T p +bh4ec=—"

38. Vf(r,y,z)=2zi+2yi—4kolEE & (2, —1,1)04 7P ] ZFoske Wk vi(2,—1,1) =4i—2j—4k
cd
a+b

o] ol HYpMELL v f(2-1,1) =6 0|z ——12.

1 p1 1 pa’ 1 — _
39. / /:/_\/x3+1d$dy:/ f \/$3+1dydl‘:/1:2\/$3+1 d$:%((\/§)3—1)°]_‘1’i a:\/Q.
0 y 0o Yo 0

y
40. v f=<20—2,2y>=<0,0> A (1,0) & YA Ao, 5

L1
D L, NA 0< f0,y)=19> <4

X
0 2
() Ly A —%s flee—2)=22"—6x+4 < 4 /

(3) Ly oA —%g fle—z+2)=22"—6x+4 <4

olmg HYgte £(0,2)=f(0, —2)=4, HE#HS f(1,0)=—1. (b=5). Wt a+b=6.
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4L u=ay, v="e AV 3o R e I WZ{(u,v) l<u=<4

4,L‘
‘d dv—// —dudv (e" 2= ¢ ?)Ing

a a—u . 3
2, FE WAL 2 g g yolmz, LV3 Z/]deZ/ f 0 (V) dvdu= V3 o1 azoa,
T 0 0

3. 24 ook 7 e 99e pet sk, 1d gl oshel,
1 pe” 1 s
F e dr= 2x dA = 2xdydx = 2ze"dr=e—1
/C //D:c ‘/0“/0 xdydx /Oxe r=e
M =9 59 2 RdAe me oha B4 B0 skl
f/F ds = // dldeV—/// +y?)d V= / (// (a2 +4° dxdy)dz
4yt <1
2T
_2.// 2+ yt)dady =2 drdf =
T+y<1:c y?)dzdy L/O fr T T

45. rank(A—7)+nullity(4—7) =50°]2 % nullity(4—7) = 1. A7} a3t ax3ko] 13 20|22
nullity (4 — 7) +nullity(4—27) =5. B&A] rank(4—27) = 1.

46. <9,m>=T(<{k,—3,5>)= T(5<1,1,1>—8<1,1,0>+ (k+3)<1,0,0))
={(5,00—<16,— 8>+ <4(k+3),3(k+3)> = <4k+1, 3k+17)
o|lBEE k=2, m=23. WA k+m =25.

4. wisk Wy el diste] Bl g @ome wegdel okt A= (e W ol

tr(A7A)=a>+bv’+ P+ d* =0°01BE a=b=c=d=0. ©W2t4 W, ={0} = AE3I LEBF. o= W, |,
A,BeW, 3} kR o thal] (A+B) ' =A"+ B '=A+Bol1 (kA)" =kA"=kA0)BE W, & REFIL

2
1+ —|dx
8. Fold wAAe v+ 1+ 2]y = (2] rolne Auan ST e gora L lery) = 2a.
_ , 1 -
Hehd y=c "+ Se T (O AT, y(1)=0dA yla)=e T e TolER y(Z)Z%
x x e

49. FA-2d8 wEgo] EXUEEA i’ +1 =002 2E dWslE y= Ccos(lnz)+ Csin(lnz) (G, C, = 3.

z71Z7A y(xz)=cos(lnz)+2sin(Inz), y' (z)= %(2005(11’133)— sin(Inz))ol 22 y(2)—y' (2)= %sin(an).

_ 1 _ s 2 1 1
50. £ 1{;}2—43 1{ + } —(cos2t+sin2t—e 2).
(s*+4)(s+2) 244 sP+4 st+2] 4
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